
MJ-1205 
B.Com. (Part-II) 

Term End Examination, March-April, 2022 

Paper I 

Cost Account 

[Maximum Marks 75 
[Minimum Pass Marks: 25 

Time Three Hours] 

Note Answer all questions. All questions cary equal 
marks. 

T/Unit-I 

1. 
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(2) 
(3) 

What is meant by Cost Accounting ? What 
(i) Number of orders per year 

are the characteristics of an ideal Cost 
i) Time between two consecutive orders 

Accounting system ? Describe the importance 

of Cost Accounting to Management. (b) ATTT fay ? FHATS 
3reaTOR What is material control? Explain. 

T/ Unit-1I 

2. 

if 150 E, fAutfka f 

(a) Hit TA 7 11,000 

(6) tNTY 1,000 

c)4TaT 10000 s 

T 2,500 
The annual demand for an item is 3200 

units. The unit cost is T 6 and the (e)6RaA TRR ay (25 TitT f¢ 

inventory carrying cost is 25% per HTE ) 7 400 

annum. If the cost of an order is F 150, 

then determine )TEA A rM - 10 

() E.O.Q. 
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(4) (5) 

yft AE 75s 

() 4IT 41 5% 

from Define 'overheads'. Give the classification ot Compute 
machine hour rate the 

following data: overheads. Explain fixed-variable and semi-
variable over-heads in detail. 

(a) Cost of machine11,000 

3hT/ Unit-III 
(6) Scrap value 1,000 

3. 40 f4H 3rRA A T 80,000I fare 
(c) Effective life 10000 hours 

20 s A frHTA, aT 20 is B * fra 
(d) Repair and maintenance for whole life 

2,500 

e) Standing charges for shop (for a month 
of 25 working days) 7 400 

3HH 10% HYRN a77 I AT 

) No. of machines in the shop - 10 

g) Working hours per day 8 hours 

(h) Power used per machine per month 75 513,885 T: Ts T 

() Machine insurance 5% of depreciation 

37aT OR 
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(6) 
(7) 

The cost of making 40 pianos of which 20 5T HIHT7 12,0oo, ai I4T 7 2,000, are of grade A and 20 are of grade B is 
80,000. Pianos of grade B costs 55% and 1,60,000, yHTA g 7 5,00,000, 3INHTTa 

6118,200, THifera B I 80% d ATI 
pianos of grade A costs 45% of the total cost. 
Ascertain the cost of each grade and add there 
to 10 percent for indirect expenses. Transport 
and space in the showroom costs F 60 per 
piano. Sales and advertisement expenses is 
10% of sales price. Selling price which is 
T 3,150 in the case of grade A and 7 3,885 in 

ACo. undertook a contract. The details of which 

are given below: 

Contract price 40,00,000. 
the case of grade B. Write up a cost sheet 

Date of showng the percentage of profit on total cost 

and selling price respectively on each grade. 
commencement 1.7.2017. Last date of 

accounting period 31.3.2018. Materials supplied 

from store T 2,20,000, materials directly supplied 
1,10,000, plant issued to contract 3,00,000, 

72T/OR 

direct expenses F 24,000, wages 1,60,000, 
establishment charges 4,200, material returned 

3 7 40,00,0001 AT}4 fafr 1.7.20171 to stores 7 8,000, materials at site 7 12,000, 
materials lost 2,000. Plant returned to stores at Fhaio 7afu aifaa fafa 31.3.2018I RÀ 
the end at cost F 1,60,000, work certified 

5,00,000, work uncertified 18,200, cash 

71,10,000, 31 7 fAifaa iiz 7 3,00,000, received 80% of work certified. Prepare contract 

account and show the amount of profit to be taken 
from the contract after charging 8% per year, 

Y T 24,000, 49U 7 1,60,000, FeITYI 
a47 4200, EE aTH T HI4t F 8,000, depreciation on plant. 
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(8) 
(9) 

TE/Uait-IV A manufacturer produces certain goods through 
there processes. Profit is not included in the 4. 

process transfer but goods at godown, are sold 
at cost plus 25% profit. In each process 5% of 

weight put in is lost and 20% scrapped which 
from process A and B realises 20 per ton and 
from process C 75 per ton. The details of 

production of three processes are given below: 

TTT 20% 7d Ei TfH faf 

A 3 B 7 20 uta aa R T fafu c 

Process B| Process C 
Ton (7) Ton (F) Ton () 
Process AA 

fafui 3TR I faaT fAifa 

yTS54T A uTsh1 B TshTC Materials 1000|10,000 550|15,000|200 2,000 

2)a () ) Wages 4,000 2,000 6,000 

Expenses 6,000 3,000-2,000 1000 10,000| 550 |15,000 200 2,000 
Passed 4,000 2,000 6,000 
to next 6,000-3,000 2,000 

60% 80% process 

Carried to 

60% 80% godown 40% 20%| |100% 

Prepare Process Accounts and Godown 
40% 20% |100% Account. 

372aT/0OR 
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(10) (11) 

(a) -qHAT T7 

(b) Tuf f 

(e) 7 20,000 T a fy What is operating cost? What are its 

objectives ? State the undertakings where it is fat 
to be used? 

(d)74,40,000 Hfa fa aY 
T/Unit-V 

5. The following data are related to a small 

manufacturing company: 
() Fixed cost 1,60,000 

(i) Variable cost 60% of sales 

What value do you attach to the reconciliation Calculate 
of Cost Accounts and Financial Accounts ? (a) PV Ratio 
Explain the main reasons for the difference in 

(6) B. E. P 
the net profits shown by the two sets of 

(c) Sales required to 

20,000. 
accounts. 

earn a profit of 

372T/0OR 
(d) Profit to an estimated sales of 7 4,40,000. 

(e) Margin of safety when sales are 

7 8,00,000. 

( IT PTa 7 1,60,000 

i) uftad-RiTA A 60% fashq 
2,320 126 JDB_*_(11) 

126 JDB_*_(11) (Continued) 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

